7000 GeV pp Soft QCD

,_’: —| T I T I T I T I T | T I T I T I T I T | T I T I T I T I T |—

o — _

+ 04— (K/K)/(Te+T0) vs ly] (0.0 < p < 0.8 GeV) —

T - _|

2 [ m LHCB N

‘v 0.35 [~ —A— Pythia 6.428 370 ]

+ — --0-- Pythia 6.428 atlas-csc —

e [ --+-- Pythia 6.428 d6t _

~ 03— Pythia 6.428 default ]

— ---¥-- Pythia 6.428 dw .

~ o Pythia 6.428 p0 -

0.25 [— ]

0.2 —

0.15 —

0.1 —

0.05 — —

_l | | | | | | | | | | | | | ' | |_

:I ! ! ' ' [ ' ' ' ' [ ' ' ' ' I:

2 = -

[ E

©)

O - ]

T N ]
e 1

9 7

2 B _

x B _

0.5 — ]

| I R B R .
3 3.5 4 4.5

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


